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PROGRAM THESIS04
USE PORTLIB
REAL  TEMPT(621,841) TEMPT OLD(621,841) TEMP_S01(5,400), TEMP_T01(5,400),ENERGY_TS(400) &
ENERGY_CF(400) ENERGYOUT(400), TEMPB(231,841), TEMPB_OLD(231,841) TEMP_BOL (5,400),
TTB(231,400)
INTEGER TIMEINOL TIME_OUTOL N_TEST
CHARACTER'S  TIME_IN,TIME_OUT
CHARACTER*20  SUB_FILE(400),TIME_FILE

OPEN(UNIT=15,FILE="TEST BOUNDARY.TXT',STATUS="UNKNOWN')

CALL TIME(TIMEIN)
WRITE(%,) TIME_IN

| STEP=5
J_STEP=| STEP

WRITE(V) 'HOW MANY NUMBER OF TEST?
READ(*¥) N_TEST

WRITE(V) 'HOW MANY TIME TO CALCULATE'
READ(*,22) K_STEP

IF(N_TEST==7) THEN
K_BURN=197
ELSE IF(N_TEST==8) THEN
K_BURN =199
ELSE IF(N_TEST==0) THEN
K_BURN=229
ELSE IF(N_TEST==11) THEN
K_BURN=238
ELSE IF(N_TEST==12) THEN
K_BURN=217
ELSE IF(N_TEST==13) THEN
K_BURN=343
END IF

TIMEINOL=TIME()
CALL ENERGY_INOUT(ENERGYOUTN_TESTK_BURN,K_STEP)
CALL CALCULATE_ENERGYSTORE_CERAMIC_AND FERNITURE(K_BURN,ENERGY CFN_TEST)



DO K=1K_BURNK_STEP
IF(K==1) THEN
CALL BOUNDARY_EDGE(TEMPT,| STEP,J_STEP,I,N_TEST)
CALL NAME_OF FILE(SUB_FILE,1)
TIME_FILE=SUB_FILE(1)
CALL WRITE_FILE(TEMPT,|_STEP,J_STEP,TIME_FILE)
ELSE IF(K>=2.AND.K<=K_BURN) THEN
CALL BOUNDARY_EDGE(TEMPT|_STEP,J_STEPKN_TEST)
CALL NAME_OF FILE(SUB_FILE K-K_STEP)
TIME_FILE=SUB_FILE(K-K_STEP)
CALL READ_FILE(TEMPT OLD,|_STEP,J_STEP,TIME_FILE)
CALL CALCULATE_TEMP(TEMPT,TEMPT OLD,LSTEP,J_STEPK_STEP)
CALL NAME_OF FILE(SUB_FILEK)
TIME_FILE=SUB_FILE(K)
CALL WRITE_FILE(TEMPT,|_STEP,J_ STEP,TIME_FILE)
END IF
END DO
CALL E_BACK_WALL
CALL CALCULATE_ENERGY STORE(| STEP,J STEPK_STEP,K_BURN,ENERGY_TS)
CALL READ_FILE_SIDEOL(TEMP_SO1K BURN,| STEP,J STEPK_STEP)
CALL READ_FILE_TOPOL(TEMP_TOLK_BURN,L STEP,J STEPK_STEP)
CALL READ_FILE_BACKOL(TEMP_BOL,K_BURN,|_STEP,J STEPK_STEP)
OPEN(UNIT=8,FILE='SIDE_POINT.TXT'STATUS="UNKNOWN)
OPEN(UNIT=9,FILE=TOP_POINT.TXT',STATUS="UNKNOWN}
OPEN(uNIT=12,FILE='BACK_POINT.TXT' STATUS="UNKNOWN')

DO K=1,K_BURN,6
WRITE( 8,20)
WRITE( 9,20)
WRITE(12,20)
DO 1=15
WRITE(8,21) TEMP_SO1(1,K)
WRITE(9,21) TEMP_TO1(,K)
WRITE(12,21)TEMP_BO1(1K)
END DO
END DO
CLOSE(8)
CLOSE(9)
CLOSE(12)

TIME_OUTO1=TIME()



WRITE(*23) TIME_OUTOL-TIMEINOL
CALL TIME(TIME_OUT)
WRITE(Y) TIME_OUT
20 FORMAT()
21 FORMAT(2X,F8.4,)
2 FORMAT(15)
2 FORMAT(2X, TOTAL TIME'14.3X," )
24 FORMAT(2X,F12.4)
26 FORMAT(4(2XF12.8))
END PROGRAM THESIS04

SUBROUTINE BOUNDARY EDGE(TEMPB|_STEP,J STEP,K_BOUNDARYN_TEST)
REAL TEMPB(621,841),T_KILN,T_TOP,DUMMY01
INTEGER.INTENT(IN):: | STEP,J_ STEP,K BOUNDARYIN TEST
IF(K_BOUNDARY==1)THEN
CALL TEMPIN_KILN(K_BOUNDARY,T_KILN.T_TOP,DUMMY01 N_TEST)
WRITEC,*) 'HOW MANY BOUNDARY TEMPERATURE?
READ (**) TEMP_BOUNDARY

DO 1=1621,_ TEP
TEMPBA, 1)=34 IT_SURFACE(K_BOUNDARY)
IF(1>1 AND. K231) THEN
TEMPB(I,JEND())= TEMP_BOUNDARY ITINITIAL
ELSE IF(1>=231 AND. I<=621) THEN
TEMPB(I,JEND())=T_KILN
END IF
END DO

DO J=1,841,] STEP
TEMPB( 1,J)=34 IT_SURFACE(K_BOUNDARY)

IF(3>1 AND. J<231) THEN
TEMPB(IEND(J),J)= TEMP_BOUNDARY ITINITIAL
ELSE IF(J>231 .AND. J<=841) THEN
TEMPB(IEND(J),J)=T_KILN IT_KILN
END IF
END DO

DO I=1+|_STEP,621-|_STEP, STEP
DO J=1+J_STEP JEND()-J_STEP,J_STEP
TEMPB(,J)=TEMP_BOUNDARY
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END DO
END DO
ELSE IF(K_BOUNDARY>=2) THEN
CALL TEMP_IN_KILN(K_BOUNDARY,T KILN,T_TOP,DUMMY01 NJTEST)
IT_KILN=TEMP_OF_KILN(K_BOUNDARY)
IT_TOP=TEMP_OF_TOP(T KILN)
WRITE(* ) T_KILN,T_TOP
DO 1=1621,_ TEP
TEMPB(, 1)=34 IT_SURFACE(K_BOUNDARY)
IF(1>=231 AND. I<=621) THEN
TEMPB(IJEND())=T_TOP
END IF
END DO

DO J=1,841,J STEP

TEMPB( 1,J)=34 IT_SURFACE(K_BOUNDARY)
IF(3>231 AND. J<=841) THEN
TEVIPB(IEND(J),J)=T_TOP
END IF
END DO
END IF

END SUBROUTINE BOUNDARY_EDGE

SUBROUTINE WRITE_FILE(TEMPW,|_STEP,J_STEP TIME_FILE)
CHARACTER*20 TIME_FILE
REAL TEMPW(621,841)
INTEGER |_STEP,J_STEP
ICALL NAME_OF_FILE(SUB_FILE,1)

ITIME_FILE=SUB_FILE(1)

OPEN(UNIT=7,FILE=TIME_FILE STATUS='UN KNOWN)
DO J=1,841 J STEP
WRITE(7,20)
DO 1=1,6211STEP
WRITE(7,21) TEMPW(L.J)
END DO
END DO



CLOSE(7)
20 FORMAT()
21 FORMAT(2X,F8.4))
END SUBROUTINE WRITE_FILE

SUBROUTINE WRITE_FILE_BACK(TEMPW,|_STEP,J_STEP,TIME_FILE)
CHARACTER*20 TIME_FILE
REAL TEMPW(231,841)
INTEGER |_STEP,J_STEP
OPEN(UNIT=7, ALE=TIME_FILE,STATUS="UN KNOWN)
DO J=1,841 J STEP
WRITE(7,20)
DO 1=1231|_ TEP
WRITE(7,21) TEMPW(LJ)
END DO
END DO
CLOSE(7)
20 FORMATS)
21 FORMAT(2X,F8.4.)
END SUBROUTINE WRITE_FILE_BACK

SUBROUTINE READ_FILE(TEMPR,|_STEP,J_STEP,TIME_FILE)
CHARACTER*20 TIME_FILE
REAL TEMPR(621,841)
INTEGER |_STEP,J_STEP
ICALL NAME_OF_FILE(SUB_FILE,1)
ITIME_FILE=SUB FILE(J]
OPEN(UNIT=7,FILE=TIME_FILE STATUS='UN KNOWN)
DO J=1,841,) STEP
READ (7,20)
DO 1=162L,_ TEP
READ(7,21) TEMPR(U)
END DO
END DO
CLOSE(7)
20 FORMATS)
21 FORMAT(2XF8.4,))
END SUBROUTINE READ_FILE



SUBROUTINE READ_FILE_BACK(TEMPR,|_STEP,J_STEP TIME_FILE)
CHARACTER*20 TIME_FILE
REAL TEMPR(231,841)
INTEGER | STEP,J STEP
ITIME_FILE=SUB_FILE(1)
OPEN(UNIT=7 FILE=TIME_FILE,STATUS="UNKNOWN))
DO J=1,841,J STEP
READ (7,20)
DO 1231, TEP
READ(7,21) TEMPR(U)
END DO
END DO
CLOSE(7)
20 FORMAT!)
21 FORMAT(2X F8.4.)
END SUBROUTINE READ_FILE_BACK

SUBROUTINE READ_FILE_SIDEOL(TEMP_S01 K_S01,1 STEP,J STEPK_STEP)
REAL TEMP_S01(5,400), DUMMY_ TEMPOL
INTEGER | STEP,J STEPK_STEP
CHARACTER*20 TIME_FILE,SUB_FILE(400)

DO K=1 K_S01 K STEP
CALL NAME_OF FILE(SUB_FILEK)
TIME_FILE=SUB_FILE(K)
OPEN (UNIT=8 FILE=TIME_FILE,STATUS="UN KNOWN)
DO J=1,(551-1)1J_STEP
READ(8,20)
END DO
DO J=1,(76-1)/1_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21) TEMP_SO01(LK)
IREAD(8,20)
DO J=1,(36-1)/_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21) TEMP_S01 (2K)
IREAD(8,20)
DO J=1,(11-1)/_STEP
READ(8.21) DUMMY_TEMPOL



END DO
READ(8,21) TEMP_SO01(3K)
IREAD (8,20)
DO J= 1,(46-1)/|_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21)TEMP_S01(4,K)
IREAD (8,20)
DO J=1,(16-1)/1_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21) TEMP_SO01(5K)
CLOSE(8)
END DO
20 FORMAT;)
21 FORMAT(2X,F8.4,)
END SUBROUTINE READ FILE_SIDEOL

SUBROUTINE READ_FILE_BACKOL(TEMP_BOLK_BOL|_STEPJ STEP K_STEP)
REAL TEMP_B01(5,400),DUMMY_TEMPO1
INTEGER |_STEP,J_STEP K_STEP
CHARACTER*20 TIME_FILE,SUB_FILE(400)
DO K=1 K_BOLK_STEP

CALL NAME_OF FILE_BACK(SUB_FILEK)
TIME_FILE=SUB_FILE(K)
OPEN(UNIT=8,FILE=TIME_FILE,STATUS='UN KNOWN)
DO J=1,(551-1)/_STEP
READ(8,20)
END DO
DO J=1,(81-1)/I_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21 ) TEMP_BO1 (L K)
IREAD (8,20)
DO J=1,(36-1)/I_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(821) TEMP_BO1(2K)
IREAD (8,20)
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DO J=1,(26-1)/|_STEP
READ(8,21 ) DUMMY_TEMPOL
END DO
READ(8,21) TEMP_B01(3K)
IREAD (8,20)
DO J=1,(26-1)/_STEP il
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21) TEMP_B01 (4K)
IREAD (8,20)
DO J= 1,(26-1)/I_STEP
READ(8,21) DUMMY_TEMPOL
END DO
READ(8,21) TEMP_B01 (5K)
IREAD (8,20)
CLOSE(8)
END DO
20 FORMAT!))
21 FORMAT(2XF8.4)
END SUBROUTINE READ_FILE_BACKO01

SUBROUTINE READ_FILE_TOPOL (TEMP_TOL K_TOLLSTEP,J STEP,K_STEP)
REAL TEMP.TO (5,400),DUMMY_TEMPOL
CHARACTER*20TIME_FILE SUB_FILE(400)

INTEGER |_STEP,J_STEP,K_STEP
DO K=1K_TOLK_STEP

CALL NAME_OF FILE(SUB_FILEK)
TIME_FILE=SUB_FILE(K)
OPEN(UNIT=8 FILE=TIME_FILE,STATUS="UN KNOWN))
DO J=1,(41-1)/J_STEP

READ(8,20)
END DO
DO J=1 (451-1)/1_STEP

READ(8,21) DUMMY_TEMPOL
END DO

READ(8,21) TEMP_T0L (1K)
DO J=1,(41-1)/J_STEP

READ(8,20)
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END DO
DO J=1,(451-1 VLSTEP
READ(8,21) DUMMY_TEMPO1
END DO
READ(8,21) TEMP_T01(2,K)
DO J—1,(41-1)/)_STEP
READ(8,20)
END DO
DO J=1,(451-1)/1_STEP
READ(8,21) DUMMY_TEMPO1
END DO
READ(8,21)TEMP_T01(3,K)
DO J=1.(41-1))_ TEP
READ(8,20)
END DO
DO J= 1,(451-1 VLSTEP
READ(8,21) DUMMY_TEMPO1
END DO
READ(8,21) TEMP_TOL(4,K)
DO J=1,(41-1)/)_STEP
READ(8,20)
END DO
DO J=1.(451-1 VLSTEP
READ(8,21) DUMMY_TEMPO1
END DO
READ(8,21) TEMP_T0L (5.K)
END DO
20 FORMAT()
21 FORMAT(2X,F8.4,)
END SUBROUTINE

SUBROUTINE READFILE_TOP_FOR_BACK(TTB,K_BURN,| STEPJ STEPK_STEP)
REAL TTB(231,400),DUMMY_TEMPO1
CHARACTER*20 TIME_FILE SUB_FILE(400)
INTEGER |_STEP,J_STEP K_STEP
DO K=1 K_BURN,K_STEP
CALL NAME_OF FILE(SUB_FILEK)
TIME_FILE=SUB_FILE(K)
CPEN(UNIT=8,FILE=TIME_FILE STATUS=UNKNOWN))
READ(8,20)



DO NI=1,231,) STEP
DO J=1 (6-1)/J_STEP
READ(8,20)
END DO
DO 1=1 (551-1)/I_STEP
READ(8,21) DUMMY _TEMPO1
END DO
READ(8,21) TTB(NI,K)
END DO
END DO
20 FORMAT()
21 FORMAT(2X,F8.4,)
END SUBROUTINE READFILE TOP_FOR BACK

SUBROUTINE CALCULATE_TEMP(TEMPC,TEMPC_OLD,| STEP,] STEP,K_STEP)
REAL TEMPC(621,841), TEMPC_OLD(621,841),TE,TW, TN, TS, AE AW AN AS
ICHARACTER*20 OLD_TIME_FILE,SUB_FILE_C(400)
INTEGER,INTENT(IN)::I_STEP,J_STEP,K_STEP
APO= (210)*(1 E-3)*(1 E-3)*(1070)*(1_STEP)*(J_STEP)/(60*K_STEP)

100 SUM_OF_ERROR=0.00
DO 1=1+|_STEP,621-1_STEP,_STEP

ERROR _J=0.00
DO J=1+J_STEP,JEND(I)-J_ STEP,J_STEP
TEMPPRV=TEMPC(1,J)
TW=TEMPC(I-|_STEP,J )
TE=TEMPC(I+]_STEP,J )
TN=TEMPC(I ,J-J_STEP
TS=TEMPC(I J+J STEP
TP=TEMPC(I 1)
CALL AOL(AE AW AN,AS TE,TW,TN,TS,TP,1.J)
TEMPC(1,J)=(AW*TEMPC(I-|_STEP,J }+AE*TEMPC(1+|_STEP,J))+&
AN*TEMPC(I J-J_STEP)+AS*TEMPC(1,J+]_STEP)+&
APO'TEMPC_OLD(I,)))/(AE+AW+AN+AS+APO)
ERROR_J=ERROR_J+ABS(TEMPPRV-TEMPC(1,J))

)
)

END DO

SUM_OF ERROR=SUM_OF ERROR+ERROR J
END DO
DO 1=621,621

ERROR_J01=0.00

DO J=1+]_STEP JEND(I)-J_STEP,J_STEP



TEMPPRV=TEMPC(1,J)
TW=TEMPC(I-_STEP, )
ITWE=TEMPC(I+]_STEP,J )
TN=TEMPC(l J-J_STEP)
TS=TEMPC(l J+]_STEP)
TP=TEMPC(I 1)
CALL AOL(AE AW ANIAS TETW,TN,TS,TP,I,)
TEMPC(1,J)=(2*AW*TEMPC(I-_STEP,J )+&
AN*TEMPC(I 1-)_STEP)+AS*TEMPC(I I+]_STEP)+&
APO*TEMPC_OLD(1,J))/(2AW+AN+AS+APO)
ERROR_J01=ERROR_J01 +ABS(TEMPPRV-TEMPC(1,J))

(
(

END DO
SUM_OF_ERROR=SUM_OF ERROR+ERROR J01
END DO
DO J=841841
ERROR_J02=0.00
DO I=1+|_STEP IEND(J)-|_STEP,| STEP
TEMPPRV=TEMPC(lJ)
TW=TEMPC(I-_STEPJ )
TE=TEMPC(I+]_STEPJ )
TN=TEMPC(l J-J_STEP)
ITS=TEMPC(I 1+]_STEP)
TP=TEMPC(I 1)
CALL AQL (AE.AW AN AS TE TW TN, TS.TP,L.J)
TEMPC(1,J)=(AW'TEMPC(I-1_STEP,J J+AE*TEMPC(I+|_STEP,J +&
2*ANSTEMPC(I 1) STEP)+&
APO*TEMPC_OLD(1,J))/(AE+AW+2*AN+APO)
ERROR_J02=ERROR_J02+ABS(TEMPPRV-TEMPC(l,]))
END DO
SUM_OF ERROR=SUM_OF ERROR+ERROR_J02
END DO
IF(SUM_OF_ERROR>=0.1) GOTO 100
END SUBROUTINE CALCULATE_TEMP

SUBROUTINE CALCULATE_TEMP_BACK(TEMPCB,TEMPCB_OLD,| STEP,J_STEP,K_STEP)
REAL TEMPCB(231,841), TEMPCB_OLD(231,841) TE,TW TN, TS, AEtAW AN AS
ICHARACTER*20 OLD_TIME_FILE,SUB_FILE_C(400)

INTEGER, INTENT(IN):|_STEP,J_STEPK_STEP
APO= (210)*(1 E-3)*(L E-3)¥(L070)*(I_STEP)*(J_STEP)/(60*K_STEP)
100 SUM_OF ERROR=0.00



DO 1=1+1 STEP,231-1_STEP,|_STEP
ERROR _J=0.00
DO J=1+]) STEP,841-] STEP,J STEP
TEMPPRV=TEMPCB(1,])
1 =TEMPCB(I-|_STEP,J)
TE=TEMPCB(I+|_STEP,J)
TN=TEMPCB(I J-J_STEP)
TS=TEMPCB(I J+J_STEP)
TP=TEMPCB(I,J )
CALL A02(AE AW AN AS.TE,TW TN,TS,TP,1.J)
TEMPCB(1,J)=(AW*TEMPCB(I-|_STEP J+AE*TEMPCB(I+]_STEP,J )+&
AN*TEMPCB(! ,J-) STEP)+AS*TEMPCB(I 3+ STEP)+&
APO*TEMPCB_OLD(1,J))/(AE+AW+AN+AS+APO)
ERROR_J=ERROR_J+ABS(TEMPPRV-TEMPCB(i,))
END DO
SUM_OF ERROR=SUM_OF ERROR+ERROR,]
END DO
DO J=841,841
ERROR_J02=0.00
DO 1=1+1_STEP,231- STEP,|_STEP
TEMPPRV=TEMPCB(1,J)
1 =TEMPCB(I-| STEP,} )
TE=TEMPCB(I+|_STEP,J)
TN=TEMPCB(I J-J_STEP)
TP=TEMPCB(I,))
CALL AD2(AE AW ANAS,TE TW,TN,TS,TP,1))
TEMPCB(1,J)=(AW*TEMPCB(I-LSTEP J)+ AE*TEMPCB(I+|_STEP,J )+&
2*AN*TEMPCB(1,J-]_STEP)+&
APO*TEMPCB_OLD(I,J))/(AE+AW+2*AN+APO)
ERROR_J02=ERROR_J02+ABS(TEMPPRV-TEMPCB(l,]))
END DO
SUM_0F ERROR=SUM_OF ERROR+ERROR J02
END DO
DO 1=231,231
ERROR_101=0.00
DO =1+] STEP,231-J STEP,J STEP
TEMPPRV=TEMPCB(1,))
=TEMPCB(I-|_STEP,J )
ITE=TEMPCB(I+]_STEP,J )
TN=TEMPCBY(I J-J_STEP)
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TS=TEMPCB(1,J+J STEP)
TP=TEMPCB(l )
CALL A02(AE AW AN ASTETW,TN TS,TP,1.J)
TEMPCB(1,J)=(2*AW*TEMPCB(l-|_STEP JJ+AS*TS+&
AN*TEMPCB(I )-J_STEP)+&
APO*TEMPCB_OLD(,J))/(AS+2*AW+AN+APO)
ERROR_I01=ERROR_[01+ABS(TEMPPRV-TEMPCBY(1.J))
END DO
SUM_OF_ERROR=SUM_OF_ERROR+ERRORJ0L
END DO
IF(SUM_OF_ERROR>=0.1) GOTO 100
END SUBROUTINE CALCULATE_TEMP_BACK

SUBROUTINE E_BACK_WALL
REAL E_BW(231), TEMP(231),E_ST_BACK
DO 1=2,231
TEMP(1)=38.4279141 *EXP(0.131028501 *REAL(-1)/10)
E_BW(1)=L.07*210*(TEMP(1)- TEMP(L))*1E-3%0.61%0.74
E_ST BACK=E_ST BACK+E_BW(l)
END DO
OPEN(UNIT=7 FILE='E_BACK.TXT'STATUS="UN KNOWN)
WRITE(7,*) E_ST_BACK
END SUBROUTINE

FUNCTION IEND(J)
INTEGER,INTENT(IN)::J
[F(J>=1 .AND. J<231) THEN
IEND=621
ELSE IF(J>231 .AND. J<=841) THEN
IEND=231
END IF
END FUNCTION

FUNCTION JEND(I)
INTEGER, INTENT(IN):I
IF(1>=1 .AND. K231) THEN
JEND=841
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ELSE IF(1>=231 .AND. I<=621) THEN
JEND=231
END IF
END FUNCTION

SUBROUTINE
TEMP_IN_KILN(K_KILN,TEMP_OF KILN,TEMP_OF TOP,TEMP_OF FLUEGAS,NUMBER_OF TEST)

INTEGER K_KILN,NUMBER_OF TEST
REAL TIME_KILN,TEMP_OF KILN,TEMP_OF_TOP,TEMP_OF FLUEGAS
TIME_KILN=K_KILN-1
IF(NUMBER_OF_TEST==7)THEN
IF(TIME_KILN>=0 .AND. TIME_KILN<=60) THEN
TEMP_OF_KILN=0.0027%TIME_KILN**3-0.3425*TIME_KILN**2+14.851*TIME_KILN+38
TEMP_OF_TOP=3E-5*TEMP_OF_KILN**3-0.0098*TEMP_OF_KILN**2
+1.6907*TEMP_OF KILN+#27
TEMP_OF FLUEGAS=3E-16*TIME_KILN**3-(3E-15) *TIME_KILN**2
+0.0052*TIME_KILN+30.896
ELSE IF(TIME_KILN>=61 .AND. TIME_KILN<=108) THEN
TEMP_OF_KILN=-3*10%*(-6)*TIME_KILN**3-0.0257*TIME_KILN**2+6.2418*TIME_KILN
TEMP_OF _TOP=254.99-0.37312*TEMP_OF_KILN+0.0026409*TEMP_OF KILN**2
-0.0000016893*TEMP_OF_KILN**3
TEMP_OF_FLUEGAS=- 0.000674569772*TIME_KILN**3+ 0.188573232*TIME_KILN“%2
-15.773064*TIME_KILN+445.20303
ELSE IF(TIME_KILN>=109 AND.TIME_KILN<=196) THEN
TEMP_OF KILN=-2752.5+58.196*TIME_KILN-.34936*TIME_KILN**2
+0.00073728*TIME_KILN**3
TEMP_OF_TOP=2453.1-10.706*TEMP_OF_KILN+0.018683*TEMP_OF_KILN**2
0.0000097785*TEMP_OF_KILN**3
TEMP_OF_FLUEGAS=0.000627849358*TIME_KILN**3- 0.314083639*TIME_KILN"2
+ 54.8852837*TIME_KILN-2962.09928
END IF
ELSE IF(NUMBER_OF_TEST==8)THEN
IF(TIME_KILN>=0 .AND. TIME_KILN<=30) THEN
TEMP_OF _KILN=- 0.00104166667*TIME_KILN**3- 0.174107143*TIME_KILN**2
+ 11,6309524*TIME_KILN+38.1285714
TEMP_OF_TOP=-9.2891829 + 2.48418261*TEMP_OF_KILN-0.0153783059
*TEMP_OF_KILN*#2+ 0.0000408811604*TEMP_OF _KILN**3
TEMP_OF_FLUEGAS=30.9003663 + 0.0653294237*TIME_KILN+0.0000158791825
*TIME_KILN**2 - 0.0000052759312*TIME_KILN**3
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ELSE IF(TIME_KILN>=31 .AND. TIME_KILN<=66) THEN
TEMP_OF KILN=-0.000347222222*TIME_KILN**3+ 0.0333002646*TIME_KILN**2
+0.0198412698*TIME_KILN+182.085714
TEMP_OF_TOP=-7068.1212 + 100.856585*TEMP_OF KILN - 0.469043117
*TEMP_OF_KILN**2 +0.000732504881 *TEMP_OF_KILN**3
TEMP_OF FLUEGAS=30.9003663 + 0.0653204237*TIME_KILN + 0.0000158791825
*TIME_KILN*%2 - 0.0000052759312*TIME_KILN**3
ELSE IF(TIME_KILN>=67 AND.TIME_KILN<=132) THEN
TEMP_OF_KILN=-2923.44266 + 86.5193862*TIME_KILN
+0.737794613*TIME_KILN**2+ 0.00215725632*TIME_KILN**3
TEMP_OF_TOP=197.39373 + 0.264005544*TEMP_OF KILN +
0.000964540112*TEMP_OF _KILN**2
- 2.64676852E-07*TEMP_OF_KILN**3
TEMP_OF FLUEGAS=-793.864802 + 15.2164206*TIME_KILN -
0.0497248122*TIME_KILN"2
-0.0000163673775*TIME_KILN**3
ELSE IF(TIME_KILN>=133 AND.TIME_KILN<=198) THEN
TEMP_OF_KILN=20.2999992 + 6.12482519*TIME_KILN - 0.013927739*TIME_KILN**2
+0.00000647500666*TIME_KILN**3
TEMP_OF_TOP=4428.24365 - 18.7401684*TEMP_OF KILN + 0.0295937795
*TEMP_OF_KILN**2 - 0.0000147899273*TEMP_OF_KILN**3
TEMP_OF FLUEGAS=-198.130769 + 5.48939394*TIME_KILN - 00136460761
*TIME_KILN**2 + 0.0000113312613*TIME_KILN**3
END IF
ELSE IF(NUMBER_OF_TEST==9)THEN
IF(TIME_KILN>=0 AND. TIME_KILN<=54) THEN
TEMP_OF_KILN=189.106154 + 3.47222546*TIME_KILN - 0.0441935379*TIME_KILN**2
+0.000178242539* TIME_KILN**3
TEMP_OF_TOP=-9510.2923 + 118.562953*TEMP_OF KILN - 0.481156352
*TEMP_OF_KILN**2 + 0.000653097951 *TEMP_OF KILN**3
TEMP_OF_FLUEGAS=66.798042 + 3.72703639*TIME_KILN - 0.0813843564
*TIME_KILN**2 + 0.000614136378*TIME_KILN"3
ELSE IF(TIME_KILN>=55 AND. TIME_KILN<=114) THEN
TEMP_OF KILN=182.268182 + 1.85275512*TIME_KILN - 0.00397889148
*TIME_KILN*%2 + 0.0000346232985*TIME_KILN**3
TEMP_OF_TOP=-4525.1769 + 43.9038419*TEMP_OF KILN - 0.134196931
*TEMP_OF_KILN**2 + 0.00013881541*TEMP_OF_KILN**3
TEMP_OF_FLUEGAS=-760.241608 + 29.1938067*TIME_KILN - 0.291967754
*TIME_KILN**2 + 0.00100731316*TIME_KILN**3
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ELSE IF(TIME_KILN>=115 AND.TIME_KILN<=192) THEN
TEMP_OF_KILN=-3070.74788 + 62.7311997*TIME_KILN - 0.365970488*TIME_KILN**2
+0.000728216047*TIME_KILN**3
TEMP_OF_TOP=652.84071 - 2.67429475*TEMP_OF KILN + 0.00723087632
*TEMP_OF_KILN**2 - 0.00000467961243*TEMP_OF KILN**3
TEMP_OF FLUEGAS=-1397.18999 + 27.7662101*TIME_KILN - 0.145997752
*TIME_KILN*#2 + 0.00026821286*TIME_KILN* 3
ELSE IF(TIME_KILN>=193 AND.TIME_KILN<=228) THEN
TEMP_OF_KILN=-5133.11429 + 67.9609127*TIME_KILN - 0.264219577*TIME_KILN**2
+ 0.000347222222*TIME_KILN**3
TEMP_OF_TOP=-13138.746 + 57.5308323*TEMP_OF KILN - 00806848906
*TEMP_OF KILN**2 + 0.000038345034*TEMP_OF_KILN**3
TEMP_OF_FLUEGAS=6286.2619 - 90.7960979*TIME_KILN + 0.460251323
*TIME_KILN**2 - 0,000758744856*TIME_KILN**3
END IF
ELSE IF(NUMBER_OF_TEST==11) THEN
IF(TIME_KILN>=0 .AND. TIME_KILN<=84) THEN
TEMP_OF KILN=28.8561146 + 15.8961689*TIME_KILN - 0.719563906*TIME_KILN**2
+0.0164151239*TIME_KILN**3&- 0.000177319428 *TIME_KILN**4
+7.22952134E-07TIME_KILN**5
TEMP_OF_TOP=1.3273593 + 2.0315225¢*TEMP_OF_KILN - 0.0112080396
*TEMP_OF KILN**2 + 0.0000295628677*TEMP_OF_KILN**3
TEMP_OF FLUEGAS=215444118 + 0,0229939668*TIME_KILN + 0.00000404007757
*TIME_KILN*%2
ELSE IF(TIME_KILN>=85 .AND. TIME_KILN<=210) THEN
TEMP_OF_KILN=-4437.37056 + 120.322708*TIME_KILN - 1,10765706*TIME_KILN**2
+0.00456580624*TIME_KILN*#3& - 0.00000698708639
*TIME_KILN*#4
TEMP_OF_TOP=-173.984171 + 2.36518684*TEMP_OF KILN - 0.00276078974
*TEMP_OF_KILN**2 + 0.00000180055566*TEMP_OF KILN**3
TEMP_OF_FLUEGAS=4177.4082 - 161.792789*TIME_KILN + 2.3413235
*TIME_KILN*%2 - 0.0158314134*TIME_KILN**3 &
+0.00005161098*TIME_KILN**4
- 6.56243804 E-08*TIME_KILN**5
ELSE IF(TIME_KILN>=211 AND.TIME_KILN<=237) THEN
TEMP_OF_KILN=-1795.24263 + 19.6192089*TIME_KILN - 0.0371739754
*TIME_KILN*%2
TEMP_OF_TOP=58051.0178-240.619581 *TEMP_OF KILN + 0.335119534
*TEMP_OF_KILN**2 - 0.000154751432*TEMP_OF_KILN**3
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TEMP_OF_FLUEGAS=-846.559329 + 9.3354304*TIME_KILN - 0.0159055444
*TIME_KILN**2

END IF
ELSE IF(NUMBER_OF TEST==12) THEN
IF(TIME_KILN>=0 AND. TIME_KILN<=72) THEN
TEMP_OF KILN=32.9656755 + 16.3058057*TIME_KILN - 0.550891885*TIME_KILN**2
+ 0.00849420868*TIME_KILN**38 - 0.0000466726825*TIME_KILN**4
TEMP_OF_TOP=3.03700964 + 1.77917122*TEMP_OF KILN - 0.00671808602
*TEMP_OF_KILN'*2 + 0.0000139628223*TEMP_OF KILN"3
TEMP_OF_FLUEGAS=25.7769231 + 0.00641025641*TIME_KILN
ELSE IF(TIME_KILN>=73 AND. TIME_KILN<=144) THEN
TEMP_OF_KILN=-1396.59263 + 40.0885302*TIME_KILN - 0.289477883*TIME_KILN**2
+0.000733699171 *TIME_KILN**3
TEMP_OF_TOP=-916.876802 + 7.87199421*TEMP_OF KILN -0.0162189663
TEMP_OF_KILN**2 + 0.0000125932592*TEMP_OF _KILN**3
TEMP_OF FLUEGAS=17672.2841 - 841.024087*TIME_KILN + 1559849
*TIME_KILN*#2 - 0.141369786*TIME_KILN**3&
+0.000631284036*TIME_KILN**4 - 0.00000111446773
ATIME_KILN**5
ELSE IF(TIME_KILN>=145 ,AND.TIME_KILN<=216) THEN
TEMP_OF KILN=-1316.58574 + 25.0156878*TIME_KILN - 0.106674575*TIME_KILN**2
+0,000165247561 *TIME_KILN**3
TEMP_OF TOP=-643.243445 + 4.31847421*TEMP_OF KILN - 0.00512895119
*TEMP_OF_KILN**2 + 0.00000256895866*TEMP_OF KILN"3
TEMP_OF FLUEGAS=-722.657018 + 13.3697351*TIME_KILN - 0.0549401987
*TIME_KILN**2 + 0.0000872776914*TIME_KILN**3
END IF
ELSE IF(NUMBER_OF TEST==13) THEN
IF(TIME_KILN>=0 AND. TIME_KILN<=108) THEN
TEMP_OF _KILN=25.1422197 + 5.39199479*TIME_KILN - 0.174542875*TIME_KILN**2
+0.00281300883*TIME_KILN**3 & 0.0000213481139*TIME_KILN**4
+6.18459055 E-08*TIME_KILN**5
TEMP_OF_TOP=-11.8637433 + 2.83453726*TEMP_OF KILN - 0.0347760428
*TEMP_OF_KILN**2 + 0.000168148491*TEMP_OF_KILN"3
TEMP_OF FLUEGAS=22.9473684 + 0.0289473684*TIME_KILN
ELSE IF(TIME_KILN>=109 .AND. TIME_KILN<=210) THEN
TEMP_OF_KILN=-8400.40017 + 202.246532*TIME_KILN - 1.7363535*TIME_KILN**2
+0.00695211929%TIME_KILN**3 & - 0.0000102013336*TIME_KILN**4
TEMP_OF_TOP=-118.715524 + 2.68255937*TEMP_OF KILN - 0.00676822779
*TEMP_OF_KILN**2 + 0.0000084793657*TEMP_OF_KILN‘*3
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TEMP_OF_FLUEGAS=497.311156 - 14.046369*TIME_KILN + 0.155775315
*TIME_KILN**2 - 0.000763265008* TIME_KILN**3&
+0.00000140119881*TIME_KILN**4
ELSE IF(TIME_KILN>=211 AND.TIME_KILN<=342) THEN
TEMP_OF_KILN=-6613.51277 + 73.9794065*TIME_KILN - 0.25711962*TIME_KILN**2
+0.000304456681 *TIME_KILN**3
TEMP_OF_TOP=-581.674567 + 4.23563623*TEMP_OF _KILN - 0.00561935475
*TEMP_OF_KILN"2 + 0.000003232139*TEMP_OF _KILN**3
TEMP_OF_FLUEGAS=-29287.6031 + 390.202303*TIME_KILN - 1.92864876
*TIME_KILN**2 + 0.00423229328*TIME_KILN**3 &
-0.0000034628752* TIME_KILN**4
END IF
END IF

END SUBROUTINE

SUBROUTINE CALCULATE_ENERGY_STORE(l_STEP,J_STEP,K_CALE,K_BURN,ENERGY _TS)

REAL TEMPE(621,841) TEMPE_OLD(621,841),DELTA_TEMP,LENGTH,ENERGY _TS(400)V1,V2,V3 &
M1M2,M3

INTEGER | STEP,J STEP,K_CALE K_BURN

CHARACTER*20 SUB_FILE_OLD(400),TIME_FILE_OLD,SUB_FILE(400),TIME_FILE

LENGTH=0.72

DENSITY=210

CP=1.070

VL | STEP*]_STEP*(1 E-3)*( E-3)*LENGTH

V2=1_STEP*) STEP*(1 E-3)*(L E-3)*LENGTHI2

V3=|_STEP*)_STEP*(1 E-3)*(L E-3)*LENGTH/A

M1=VI*DENSITY

M2=V2*DENSITY

M3=V3*DENSITY

DO K=1+4K_CALE K_BURN,K_CALE

CALL NAME_OF FILE(SUB_FILE_OLD,K-K_CALE)

TIME_FILE_OLD=SUB_FILE_OLD(K-K_CALE)

CALL READ_FILE(TEMPE_OLD,| STEP,J_STEP,TIME_FILE_OLD)

CALL NAME_OF FILE(SUB_FILEK)



TIME_FILE=SUB_FILE(K)
CALL READ_FILE(TEMPE,|_STEP,J STEP TIME_FILE)
'INTERIOR NODE
DELTA_ENERGY=0.00
DO |=1+]_STEP.621-LSTEP,|_STEP
DO J=1+J_STEP JEND(1)-J_STEP,J_STEP
DELTA_TEMP=(TEMPE(1,J)-TEMPE_OLD(1,)))
DELTA_ENERGY=DELTA_ENERGY+DELTA TEMP*M1*CP
END DO
END DO
ENERGY_STORE_INTERIOR_NODE=DELTA ENERGY
ITOP SURFACE
DELTA_ENERGY=0.00
DO I=1+LSTEP IEND(L)-|_STEP,LSTEP
DELTA_TEMP=(TEMPE(I.1)-TEMPE_OLD(1,1))
DELTA_ENERGY=DELTA _ENERGY+DELTA_TEMP*M2*CP

END DO
ENERGY_STORE_TOP_SURFACE=DELTA_ENERGY
ILEFT SURFACE
DELTA_ENERGY=0.00
DO J=1+]_STEP JEND(1)-J STEP,J_STEP
DELTA_TEMP=(TEMPE(L,))-TEMPE_OLD(11))
DELTA ENERGY=DELTA ENERGY+DELTA TEMP*M2*CP
END DO
ENERGY_STORE_LEFT SURFACE=DELTA_ENERGY
ITOP SURFACE IN KILN
DELTA_ENERGY=0.00
DO |=231+]_STEP 6211 STEP,LSTEP
DELTA_TEMP=(TEMPE(,231)-TEMPE_OLD(1,231))
DELTA_ENERGY=DELTA_ENERGY+DELTA TEMP*M2*CP
END DO
ENERGY_STORE_TOP_KILN=DELTA_ENERGY
[LEFT SURFACE IN KILN
DELTA_ENERGY=0.0
DO J=231+)_STEP,841-) STEP,J_STEP
DELTA_TEMP=(TEMPE(231 ,J)-TEMPE_OLD(2311))
DELTA_ENERGY=DELTA_ENERGY+DELTA TEMP*M2*CP
END DO
ENERGY _STORE_LEFT KILN=DELTA_ENERGY
'INSULATE RIGHT SURFACE



DELTA_ENERGY=0.00

DO J= 1+]_STEP,231-J STEP,J_STEP
DELTA_TEMP=(TEMPE(§21, )-TEMPE_OLD(621, ))
DELTA_ENERGY=DELTA_ENERGY+DELTA_TEMP*M2*CP

END DO

ENERGY_STOREINSULATE_RIGHT=DELTA_ENERGY
'INSULATE BOTTOM SURFACE
DELTA_ENERGY=0.00

DO E1+1_STEP,231-_STEP,|_STEP
DELTA_TEMP=(TEMPE(1,841 )-TEMPE_OLD(1,841))
DELTA_ENERGY=DELTA_ENERGY+DELTA_TEMP*M2*CP

END DO

ENERGY_STORE_INSULATE_BOTTOM=DELTA_ENERGY

| CONNEROF KILN
DELTA_ENERGY=0.00
DELTA_ENERGY=DELTA_ENERGY+(TEMPE( 1, 1)-TEMPE_OLD( 1, 1)*M3*CP
DELTA_ENERGY=DELTA ENERGY+(TEMPE( 1,841)-TEMPE_OLD( 1, 1)*M3*CP
DELTA_ENERGY=DELTA_ENERGY+(TEMPE(231,231)- TEMPE_OLD(231,231 ))*M3*CP
DELTA_ENERGY=DELTA ENERGY+(TEMPE(23L,841)-TEMPE_OLD(231,841))*M3*CP
DELTA_ENERGY=DELTA_ENERGY+(TEMPE(6211 1)-TEMPE_OLD (6211 1))*M3*CP
DELTA_ENERGY=DELTA ENERGY +(TEMPE(621,231)- TEMPE_OLD(621,231))*M3*CP
ENERGY_STORE_CONNER=DELTA ENERGY
ENERGYJ5TORE_TOTAL=
ENERGY_STORE_INTERIOR_NODE+ENERGY_STORE_TOP_SURFACE+ &
ENERGY STORE_LEFT SURFACE+ENERGY STORE TOP_KILN+ &
ENERGY _STORE_LEFT KILN+ENERGY_STORE_INSULATE_RIGHT+ &
ENERGY_STORE_INSULATE_BOTTOM+ENERGY_STORE_CONNER
ENERGY_TS(K)=ENERGY STORE_TOTAL
ENERGY STT=ENERGY_STT+ENERGY STORE_TOTAL

END DO

03EN(UNIT=8,AILE='E_ST_TS.TXT' STATUS="UN KNOWN)

WRITE(8,30) ENERGY.STT

CLOSE(S)

03EN(UNIT=9FILE="E_ST TS_TIME.TXT'STATUS="UN KNOWN))

DO 1=1+K_CALE K_BURNK_CALE
WRITE(9,25) ENERGY_TS(l)

END DO

CLOSE(9)

25 FORMAT(2X,F8.4)
30 FORMAT(2X,ENERGY STORE IN WALL'F12.4,KJ)



END SUBROUTINE CALCULATE_ENERGY_STORE

SUBROUTINE CALCULATE_ENERGYSTORE_CERAMIC_AND_FERNITURE(K_END E_ST_CAF,N_TEST)

REAL E_ST_CAF(400)IMASS_FER MASS_CE,CP_FER,CP_CE,TEMP_KILN,TEMP_KILN_OLD,DUMMY_TEMP.&
DUMMYOLE_CF_INTV(400)
INTEGER K_END,KMLN_TEST
WRITE(**) 'HOW MANY MASS OF CERAMIC'
READ (*1) MASS_CE
WRITE(**) 'HOW MANY MASS OF FERNITUREL
READ (*#) MASS_FER
CP_CE=0.88
CP_FER= 0.74 1065
K_STEP=6
DO K=2,K_END,1
KM1=K-1
CALL TEMP_IN_KILN(KM1, TEMP_KILN_OLD,DUMMY_TEMPDUMMY01 N_TEST)
CALL TEMP_IN_KILN(KTEMP_KILN,DUMMY_TEMPDUMMYO0LIN_TEST)
DELTA_TEMP=TEMP_KILN-TEMP_KILN_OLD
E_ST_CAF(K)=(MASS_FER*CP_FER+MASS_CE*CP_CEJ*DELTA_TEMP
E_ST CF= E_ST_CF+(MASS_FER*CP_FER+MASS_CE*CP_CE)*DELTA_TEMP
END DO
OPEN(UNIT=8 FILE='ENERGY STORE IN CERAMIC AND FERNITURE.TXT' STATUS="UNKNOWN')
WRITE(8,23) E_ST CF
OPEN(UNIT=9,FILE='ENERGY SORE IN CARAMIC AND
FERNITURE_EACH_TIME.TXT' STATUS="UNKNOWN)
DO K=1 K_END,1
WRITE(9,25) E_ST_CAF(K)
END DO
DO K=1+K_STEP,K_END,K_STEP
DO 1=1 K_STEP.1
E_CF_INTV(K)= E_CF_INTV(K)*E_ST CAF(K-I
END DO

END DO
OPEN(UNIT=10,FILE="ENERGY SORE IN CARAMIC AND

FERNITURE_INTIVAL_TIME.TXT' STATUS="UNKNOWN')
DO I=1+K_STEP,K_END,K_STEP
WRITE00.25) E_CF_INTV(l)
END DO
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CLOSE(8)
FORMAT(2X,'ENERGY STORE IN CERAMIC AND FERNITURE IS F12.4,KJ)

25 FORMAT(2XF12.4)
END SUBROUTINE CALCULATE_ENERGYSTORE_CERAMIC_AND_FERNITURE

FUNCTION P_GAS(PG)

INTEGER PG
IF (PG==1) THEN

P_GAS=0.011333
ELSE IF (PG==2) THEN

P_GAS= 0.02266 10.025131
ELSE IF (PG==3) THEN

P_GAS= 0.026322 10.029857
ELSE IF (PG==4) THEN

P_GAS= 0.030564 10.03622
END IF

END FUNCTION

SUBROUTINE ANALYSIS_FLUEGAS(MASS_N2,MASS_H20,MASS_02,MASS_C02)

IKG/MIN

REAUNTENT(INOUT):: MASS_N2(4),MASS_H20(4),MASS_02(4),MASS_C02(4)

REAL MOLE_AIR_THMW_N2,MW_02,MW_C02,MW_AIR MW_LPG COP(4)

MOLE_AIR_TH=56

MW _N2=28

MW _02=32

MW_C02=28

MW _AIR=137.28

MW _LPG=49.6

MW_H20=18

COP(1)=1.068

COP(2)=1.068

COP(3)=1.13

COP(4)=1.20

DO K=14
MASS_N2(K)=(3.76*MOLE_AIR_TH*MW_N2*EXCESS_AIR(K))MW_LPG*P_GAS(K)*COP(K)

MASS_02(K)=(EXCESS_AIR(K)-1)*5.6*MW _02/MW_LPG*P_GAS(K)*COP(K)

MASS_C02(K)=3.4*MW_CO2/MW_LPG*P_GAS(K)

MASS_H20(K)=44*MW_H20/MW_LPG*P_GAS(K)*MOLE_AIR_TH*EXCESS_AIR(K)*MW_AIR¥0.0
24*COP(K)*P_GAS(K)MW_LPG



END DO

END SUBROUTINE ANALYSIS_FLUEGAS
FUNCTION EXCESS_AIR(EA)
INTEGER EA
IF(EA==1) THEN
PER_02=18
ELSE IF(EA==2) THEN
PER 02165
ELSE IF (EA==3) THEN
PER_02=9
ELSE IF (EA==4) THEN
PER_02=5
END IF
EXCESS_AIR=(21/(21-PER_02))
END FUNCTION

SUBROUTINE ENERGY_INOUT(E_OUT,N_TEST,K_BURN,K_STEP)

REAL E_OUT(400),FG_TEMP,DUMMYOL DUMMY02,M_N2(4)M_H20(4),M_02(4)M_CO2(4)&
FG_TEMP_OLD,TIMES(4),MGAS(4)MASS_GAS,E_IN(400)M_IN(400),0PEL_OUT(400),B_TEMP,&

E_OUT_INTV/(400),0PELINTV(400)
INTEGER K_BURNK_STEP
IWRITE(*T)'WHAT ARE STARTING HALF(H) OR FULL(F) BURNNER'
(READ (1)

IF(N_TEST==13) THEN
TIMES(1)=107
TIMES(2)=101
TIMES(3)= 131

ELSE IF(N_TEST==11) THEN
TIMES(1)=0
TIMES(2)=87
TIMES(3)=120
TIMES(4)=27

ELSE

WRITE(V) 'HOW MANY TIME BURNING AT PRESSURE 0.2 kPalsg.cm.(HALF BURNER)'

READ(V) TIMESO)

WRITE(*%) 'HOW MANY TIME BURNING AT PRESSURE 0.2 kPa/sg.cm.(FULL BURNER)

READ(V) TIMES(2)

WRITE(*) 'HOW MANY TIME BURNING AT PRESSURE 0.25 kPa/sq.cm.(FULL BURNER)'
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READ(Y) TIMES(3)
WRITE(Y) "HOW MANY TIME BURNING AT PRESSURE 0.3 kPalsq.cm.(FULL BURNER)'
READ(Y) TIMES(4)
END IF
MASS_GAS=0.00
DO K=14
MGAS(K)=P_GAS(K)*TIMES(K)
MASS_GAS=MASS_GAS+MGAS(K)
END DO
OPEN(UNIT=8 FILE='MASS GASS USED.TXT'STATUS-UNKNOWN')
WRITE (8,23) MASS_GAS
DO 1=1 K_BURN,1
IF(1>=1 .AND. I<=TIMES(1)+1) THEN
M_IN(I)= P_GAS(L)
ELSE IF(I>TIMES(L)+L .AND I<=TIMES(L}+TIMES(2)+1) THEN
MIN(I)= P_GAS(2)
ELSE IF(ISTIMES(L)+TIMES(2)+1 AND. I<=TIMES(1)+TIMES(2)+TIMES(3)+1) THEN
M_IN(I)= P_GAS(3)
ELSE IF(I>TIMES(L+TIMES(2)+ TIMES(3)+1 .AND.
I<=TIMES(L)+TIMES(2)+TIMES(3)+TIMES(4)+1) THEN
M_IN(I)= P_GAS(4)
END IF
END DO

DO K=1+4K_STEP,K_BURN,K_STEP
E_IN(K)=0.00
DO 11 K_STEP
EIN(K)=E_IN(K)+M_IN(K-I)*49E3
END DO
END DO
OPEN(UNIT=9 FILE='E_IN_TIME.TXT' STATUS="UNKNOWN)
DO I=1+K_STEP,K_BURNK_STEP
WRITE(9,27) E_IN()
END DO
CLOSE(9)
CALL ANALYSIS_FLUEGAS(M_N2,M_H20M_02,M_C02)
B_TEMP=23.00
ENERGYOUT P1=0.00
ENERGYOUT_P2=0.00



ENERGYOUT _P3=0.00
ENERGYOUT _P4=0.00
ENERGY_OUT TOTAL=0.00
DO I=1+K_STEP,K_BURN.K_STEP
IML=1-K_STEP
CALL TEMP_IN_KILN(I DUMMY0L DUMMY02,FG_TEMP,N_TEST)
CALL TEMPIN_KILN(IM1DUMMY01 ,DUMMY02,FG_TEMP_OLD,N_TEST)
DELTA_H_N2= (H_N2(FG_TEMP)-H_N2(B_TEMP))
DELTA_H_02= (H_02(FG_TEMP)-H_02(B_TEMP))
DELTA_H_C02=(H_C02(FG_TEMP)-H_C02(B_TEMP))
DELTA_H_H20=(H_H20(FG_TEMP)-H_H20(B_TEMP))
IF(1>=1 AND. I<=TIMES(L)+1) THEN!
E_OUT(l)= M_N2 ()*DELTA_H_N2*K_STEP+M_02 (1)*DELTA_H_02*K_STEP+&
M_CO2(1)*DELTA_H_C02*K STEP+M_H20(L)*DELTA_H_H20‘K_STEP
ENERGYOUT P1=ENERGYOUT P1+E_OUT(I}*0.01
ELSE IF(I>TIMES(L)+1 AND. I<=TIMES(L)}+TIMES(2)+L) THEN
E_OUT(l)= M_N2 (2)*DELTA_H _N2*K_STEP+M_02 (2)*DELTA H_02*K_STEP+&
M_CO2(2)*DELTA H_C02*K_STEP+M _H20(2)*DELTA_H_H20*K_STEP
ENERGYOUT P2=ENERGYOUT P24E_OUT(I)*0.3
ELSE IF(I>TIMES(L+TIMES(2)+1 AND. I<=TIMES(L)+TIMES(2)+TIMES(3)+L) THEN
E_OUT(l)=M_N2 (3)*DELTA_H_N2*K_STEP+M 02 (3)*DELTA_H_02*K_STEP+&
M_C02(3)*DELTA_H_C02*K_STEP+M_H20(3)*DELTA_H_H20*K_STEP
ENERGYOUT P3=ENERGYOUT P3+E OUT(1)*0.9
ELSE IF(I>TIMES(L)+TIMES(2)+TIMES(3)+1 .AND.
|<=TIMES(L+TIMES(2)+TIMES(3)+ TIMES(4)+1) THEN

E_OUT(l)= M_N2 (4)*DELTA_H_N2*K_STEP+M 02 (4)*DELTA_H_02*K_STEP+&
M_CO2(4)*DELTA_H_C02*K_STEP+M_H20(4)*DELTA_H_H20*K_STEP
ENERGYOUT P4=ENERGYOUT P4+E_OUT(I)*0.9
END IF
END DO
ENERGY OUT TOTAL=ENERGYOUT PI+ENERGYOUT P2+ENERGYOUT P3+ENERGYOUT P4
F 1=01
F 2202
F 3208
F 4=08
DO IZZ’K_TI\LT,H
CALL TEMP_IN_KILN(I .DUMMY01DUMMY02,FG_TEMP,N_TEST)
CALL TEMP_IN_KILN(IM1DUMMYO0L DUMMY02,FG_TEMP_OLD,N_TEST)
DELTA_H_N2= (H_N2(FG_TEMP)-H_N2(B_TEMP))



DELTA_H_02= (H_02(FG_TEMP)-H_02(B_TEMP))
DELTA_H_C02=(H_C02(FG_TEMP)-H_C02(B_TEMP))
DELTA_H_H20=(H_H20(FG_TEMP)-H_H20(B_TEMP))
IF(1>=1 AND. I<=TIMES(1)+1) THEN
E_OUT(l)= (M_N2 (1)*DELTA_H_N2+M_02 (1)*DELTA_H_02+&
M_C02(1)*DELTA_H_C02+M_H20(1)*DELTA_H_H20)*F 1
ENERGYOUT_P1=ENERGYOUT P1+E_OUT(l)
ELSE IF(I>TIMES(L)+1 AND. I<=TIMES(L)}+TIMES(2)+1) THEN
E_OUT(])= (M_N2 (2)*DELTA_H_N2+M 02 (2)*DELTA_H_02+&
M_C02(2)*DELTA_H_C02+M_H20(2)*DELTA_H_H20)*F 2
ENERGYOUT P2=ENERGYOUT P2+E_OUT()
ELSE IF(I>TIMES(L+TIMES(2)+1 AND. I<=TIMES(L)}+TIMES(2)+TIMES(3)+L) THEN
E_OUT(I)=(M_N2 (3)*DELTA_H_N2+M 02 (3)*DELTA _H_02+&
M_C02(3)*DELTA_H_C02+M_H20(3)*DELTA_H_H20)*F 3
ENERGYOUT P3=ENERGYOUT P3+E_OUT(]
ELSE IF(I>TIMES(L)+TIMES(2)+TIMES(3)+L AND.
I<=TIMES(L)+TIMES(2)+TIMES(3)+ TIMES(4)+1) THEN
E_OUT()= (M_N2 (4)*DELTA_H_N2+M_02 (4)*DELTA_H 02+&
M_CO2(4)*DELTA_H_C02+M_H20(4)*DELTA_H_H20)*F 4
ENERGYOUT P4=ENERGYOQUT P4+E_OUT()
END IF
END DO
DO K=1+K_STEP,K_BURN,K_STEP
E_OUT_INTV(K)=0.00
DO 1=1 K_STEP
E_OUT_INTV(K)=E_OUTINTV(K)+E_OUT(K-)
END DO
END DO
ENERGY_OUT_TOTAL=ENERGYOUT PL+ENERGYOUT P2+ENERGYOUT P3+ENERGYOUT P4
OPELOUT P1=0.00
OPELOUT_P2=0.00
OPELOUT_P3=0.00
OPELOUT _P4=0.00
OPEL_OUT_TOTAL=0.00
DO |=2K_BURN,1
IM=H
CALL TEMPIN_KILN(I FG_TEMP,DUMMY02,DUMMY0L N_TEST)
CALL TEMP_IN_KILN(IM1 ,FG_TEMP_OLD,DUMMY02,DUMMYO0LN_TEST)
DELTA_H_N2= (H_N2(FG_TEMP)-H_N2(B_TEMP))
DELTA_H_02= (H_02(FG_TEMP)-H_02(B_TEMP))
DELTA_H_C02=(H_C02(FG_TEMP)-H_C02(B_TEMP))
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DELTA_H_H20=(H_H20(FG_TEMP)-H_H20(B_TEMP))
IF(1>=1 AND. I<=TIMES(1)+1) THEN
OPEL_OUT(I)=(M_N2 (1)*DELTA_H_N2+M 02 (1)*DELTA_H_02+&
M_CO2(L)*DELTA_H_C02+M_H20(1)*DELTA_H_H20)¥(1-F_1)
OPELOUT_P1=0PELOUT_P1+0PEL_OUT(l)
ELSE IF(I>TIMES(L)+1 AND. I<=TIMES(1)}+TIMES(2)+1) THEN
OPEL_OUT(l)= (M_N2 (2)*DELTA_H_N2+M 02 (2)*DELTA_H_02+&
M_CO2(2)*DELTA_H_C02+M_H20(2)*DELTA_H_H20)¥(L-F_2)
OPELOUT P2=0PELOUT P2+OPEL_OUT()
ELSE IF(I>TIMES(L+TIMES(2)+1 AND. I<=TIMES(1)+TIMES(2)+TIMES(3)+1 ) THEN
OPEL_OUT(l)= (M_N2 (3)DELTA_H_N2+M_02 (3)*DELTA_H _02+&
M_CO2(3)*DELTA_H_C02+M_H20(3)*DELTA_H_H20)¥(L-F_3)
OPELOUT_P3=OPELOUT P3+OPEL_OUT()
ELSE IF(I>TIMES(L+TIMES(2)+ TIMES(3)+1 .AND.
I<=TIMES(1)+TIMES(2)+ TIMES(3)+ TIMES(4)+1) THEN
OPEL_OUT(l)= (M_N2 (4)*DELTA_H_N2+M 02 (4)*DELTA_H_02+&
M_CO2(4)*DELTA_H_C02+M H20(4)*DELTA_H_H20)¥(L-F_4)
OPELOUT_P4=OPELOUT P4+OPEL_OUT(l)
END IF
END DO
OPEL_OUT TOTAL=OPELOUT P1+OPELOUT P2+OPELOUT P3+OPELOUT P4
DO K=1+K_STEP,K_BURN,K_STEP
OPEL_INTV(K)=0.00
DO 1=1 K_STEP
OPEL_INTV(K)=OPEL_INTV(K)+OPEL_OUT(K-)
END DO
END DO
OPEN(UNIT=7,FILE='FLUEGAS_OUT.TXT' STATUS="UN KNOWN')
WRITE(7,20) ENERGY_OUT TOTAL
OPEN(UNIT=8,FILE="FLUEGAS_OUT EACH_TIME.TXT' STATUS="UN KNOWN)
DO I=1K_BURN,1
WRITE(8,25) E_OUT(l)
END DO
OPEN(UNIT=9,FI LE='FLUEGAS_OUT INV_TIME.TXT' STATUS="UN KNOWN')
DO |=1+K_STEP,K_BURN,K_STEP
WRITE(9,25) E_OUTINTV()
END DO
CLOSE(7)
CLOSE(8)

CLOSE(9)
OPEN(UNIT=7,FILE="OPEN_LOSS_OUT.TXT' STATUS="UN KNOWN)



WRITE(7,20) OPEL_OUT TOTAL
OPEN(UN IT=8FI LE='OPEN_LOSS_OUT EACH_TIME.TXT' STATUS="UN KNOWN)
DO 1=1 K_BURN 1

WRITE(8,25) OPEL_OUT(l)
END DO
OPEN(UNIT=9,FILE='OPEN_LOSS_OUTINVT_TIME.TXT' STATUS="UN KNOWN))
DO I=1+K_STEP,K_BURN,K_STEP

WRITE(9,25) OPELINTV(l)
END DO
CLOSE(?)
CLOSE(S)
CLOSE(9)
20 FORMAT(2X,'ENERGY out from flue GAS IS'2X,F12.4,KJ)
23 FORMAT(2X,MASS USED IN PROCESS IS'F6.3kg)
25 FORMAT(2X,F12.)
27 FORMAT(2X,F9.4)
END SUBROUTINE ENERGYJINOUT
FUNCTION H_C02(FG_TEMP)

REAL FGJTEMP

H_C02 = -8963.8+0.84283*(FG_TEMP)+0.00041569*(FG_TEMP)**2-13513E-07%(FG_TEMP)"3
END FUNCTION H_C02

use for find entahlpy of Nitrogen each times

FUNCTION H_N2(FG_TEMP)
REAL FG.TEMP
H_N2=-24.172+1.0095%(FG_TEMP)+0.00010909*(FG_TEMP)**2

END FUNCTION

! use for find entahlpy of Oxegen each times

FUNCTION H_02(FG_TEMP)
REAL FGJTEMP
H_02=-22.225+0.8952%(FG_TEMP)+0.00019472(FG_TEMP)**2-5,6961 E-08*(FG_TEMP)**3

END FUNCTION H_02

use for find entahlpy of Vapor each times

FUNCTION H_H20(FG_TEMP)
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REAL FG_TEMP
H_H20=-13467+1.8177*(FG_TEMP)+0.00029307*(FG_TEMP)**2+3.1642E-08*(FG_TEMP)**3
END FUNCTION H_H20

SUBROUTINE AO01(AE,AW AN,AS,TE,TW TN, TS,TP,I,J,1_STEP,J_STEP)
REAL AW AEAN,AS,TW,TE, TN, TS,TP
INTEGER
DX=1E-3*|_STEP
DY=1E-3*J STEP

ICOF01=15
IM1=1-1_STEP

IP1=1+] STEP

IM1=J-J STEP

JP1=J+J STEP
CE=CFIBER(TE)*COF(IPLJ )*DY/DX
CW=CFIBER(TW)*COF(IM1 J *DY/DX
CN=CFIBER(TNJ*COF(I IML)*DY/DX

CS=CFIBER(TS)*COF(I JP1)*DY/DX
(TP)

CP=CFIBER(TP)*COF(I J )'DY/DX
CE01=CE
CWO01=CW
CNO1=CN
CS01=CS
IF (1==1) THEN
IF (J==1) THEN
AE=CE0L
AW=0
AN=0
AS=CS01
ELSE IF(J>1 AND. J<841) THEN
AN=CNOL/2
AS=CS01/2
AE=CE0L
AW=0

ELSE IF (J==841) THEN

AE=CE01
AW=0



AN=CNOL
AS=0
END IF
ELSE IF (I>1 .AND. I<231) THEN
IF(J==1) THEN
AE=CE0L/2
AW=CW01/2
AN=0
AS=CS01
ELSE IF(J>1 AAND. J<841) THEN
AE=CE01
AW=CW0L
AN=CNO1
AS=CS01
ELSE IF(J==841) THEN

AE=CE01/2
AW=CWO01/2
AN=CNO1
AS=0
END IF
ELSE IF(1==231)  THEN
IF(J==1) THEN
AE=CE01/2
AW=CW01/2
AN=0
AS=CS01
ELSE IF(J>1 AAND. J<231) THEN
AE=CE01
AW=CW0L
AN=CN01
AS=CS01
ELSE IF(J==231) THEN
AE=CE01
AW=CWOL
AN=CNO1
AS=CS01
ELSE IF(3>231 AND. J<841) THEN
AE=0
AW=CW0L
AN=CNO1/2



AS=CS01/2

ELSE IF (J==841) THEN
AE=0
AW=CW01
AN=CNO1
AS=0

END IF
ELSE IF(1>231 AND. K621) THEN

IF(J==1) THEN
AE=CE01/2
AW=CWOL/2
AN=0
AS=CS01

ELSE IF (J>1 .AND. J<231) THEN
AE=CE0L
AW=CW01
AN=CNO1
AS=CS01

ELSE IF(J==231) THEN
AE=CEQ1/2
AW=CWO1/2
AN=CNO1
AS=0

END IF

ELSE IF(1==621) THEN

AE=0

IF (J==1) THEN
AW=CWO0L
AN=0
AS=CS01

ELSE IF(J>1 .AND. J<231) THEN
AW=CW01
AN=CNO1/2
AS=CS01/2

ELSE IF (J==231) THEN
AW=CWO0L
AN=CNO1
AS=0

END IF
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END IF

END SUBROUTINE A0l

SUBROUTINE A02(AE,AW,ANASTETW,TN,TST, )
REAL AW,AE,AN,AS,TW,TE, TN, TS

INTEGER |,
DX=1E-3
M
IP1=1+1
IM1=J-1
JP1=J+1

CE=0.0616938432*EXP(0.00148978098*TE)*COFB(IP1 J )*DY/DX

CW=0.0616938432*EXP(0.00148978098*TW)*COFB(IM1 ,J )*DY/DX
CN=0.0616938432*EXP(0.00148978098*TN)*COFB(I IM1)*DY/DX
CS=0.0616938432*EXP(0.00148978098*TS)*COFB(l ,JP1)*DY/DX

CP=0.0616938432*EXP(0.00148978098*T J*COFB(I ,J )*DY/DX

CE01=2*CE*CPI(CE+CP)
CWOL=2*CW*CP/(CW+CP)
CNO1=2*CN*CP/(CN+CP)
CS01=2*CS*CP/(CS+CP)

IF (1==1) THEN

IF (J==1) THEN

AE=CE01
AW=0
AN=0
AS=CS01

ELSE IF(J>1 .AND. J<841) THEN

AN=CN01/2
AS=CS01/2
AE=CE01
Aw=0

ELSE IF (J==841) THEN

END IF

AE=CE01
AW=0
AN=CNO1
AS=0

ELSE IF (I>1 .AND. I<231) THEN
IF(J==1) THEN
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AE=CE01/2
AW=CWOL/2
AN=0
AS=CS01

ELSE IF(J>1 AND. J<841) THEN
AE=CE0L
AW=CW01
AN=CNO1
AS=CS01

ELSE IF(J==841) THEN
AE=CEQ1/2
AW=CWOL/2
AN=CNO1
AS=0

END IF

ELSE IF(1==231)  THEN

IF(J==1) THEN
AE=0
AW=CW01
AN=0
AS=CS01

ELSE IF(J>1 .AND. J<841) THEN
AE=0
AW=CW01
AN=CN01/2
AS=CS01/2
ELSE IF (J==841) THEN
AE=0
AW=CW01
AN=CN01
AS=0
END IF
END IF
END SUBROUTINE A02
FUNCTION AE(IAE,TE)
INTEGER.INTENT(IN):: IAE
REAL,INTENT(IN)::TE
REAL COF
ICOF=2
IF (IAE>=1 AND. IAE<=116) THEN



COF=15
ELSE
COF=2
END IF
CONDUCT=(0.0522*EXP(0.0017*TE))*COF
DX=1E-3
DY=1E3
IF(IAE==1) THEN
AE=0.0
ELSE IF(IAE>=2 AND. IAE<=621) THEN
AE=CONDUCT*DX/DY
END IF
END FUNCTION AE
SUBROUTINE NAME_OF FILE(SUB_FILE,)
INTEGER |
CHARACTER*20 SUB_FILE(400)
IF (1==1) THEN
SUB_FILE(1)="T0001 TXT
ELSE IF (I==2) THEN
SUB_FILE(I)=T0002.TXT'
ELSE IF (1==3) THEN
SUB_FILE(1)="T0003.TXT"
ELSE IF (1==397) THEN
SUB_FILE(I)='T0397.TXT'
ELSE IF (I— 398) THEN
SUB_FILE(1)='T0398.TXT'
ELSE IF (1==399) THEN
SUB_FILE(I)='T0399.TXT'
ELSE IF (1==400) THEN
SUB_FILE(1)=T0400.TXT
END IF
END SUBROUTINE NAME_OF FILE
SUBROUTINE NAME_OF FILE BACK(SUB_FILE)
INTEGER |
CHARACTER*20 SUB_FILE(400)
IF (1==1) THEN
SUB_FILE(I)="TB000L .TXT

ELSE IF (I==2) THEN
SUB_FILE(I)='TB0002.TXT'
ELSE IF (1==3) THEN
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SUB FILE(I)="TBOXG.TXT
ELSE IF (I==397) THEN
SUB_FILE(I)="TB0397.TXT'
ELSE IF (I==398) THEN
SUB_FILE(I)="TB0398.TXT'
ELSE IF (I==399) THEN
SUB_FILE(I)="TB0399.TXT'
ELSE IF (1= =400) THEN
SUB_FILE(I)="TB0400.TXT'
END IF
END SUBROUTINE NAME_OF FILE BACK
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P = 001133
02 © 002266
3 = 002322
p, = 0.030564

(3-9)

k in
1

(3-8)

k?/nin
k?’rlnin
k9r/nin

k?n/]in

0.6C3Hy + 0.ACAHD + 23.52(02+3.76N2) A
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5.6- 26.656x - " -
I 100 J

= 4.2

3.4C02+ 4.4 HO +88.43N2+ 17.9202
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4 0.2 of (i (P2 ."
0.02266 Ky m i
1 23.52
1
(C0) 34
(HX) 44
1 (N) 88.43
(02 17.92
1 49.6
1 137.28
1 44
1 32
1 28
1 18
.0.02266 kymin . - 0.02266x137.28X23152
- 11751 %
1002266 lgmin . ' C eengagens
0.068345% ,,
0.02266 kgCin ' = 0'024296,2X18X 4
0.036183 kg min
0.02266  ~/min 0.02266x2gx88 43
1.13119 k% in
0.02266 ig,md, " = e -x1T-9

= 0.261979



lfmin

25 °¢

0.2 kgf/
fcm
14751 kg min

388.619 kJ .

105°c

105 C
105 C
105 C
105°¢
25°¢
25°¢C
25 C
25°¢C

298.6 Ky
2288 ky"

-8871
3.9
-13272

83.34
-8940
0

-13423
0
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0.02266

. 0.20

Ikg
k/g
/ng

/
lkg

0.068345 *%hin
0.261979 *%hip
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0,036183 %
1.13119

4.7158 kJl
19.3602 " Imn
5.4636 kj/min
94.2734 kJ/min
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